Catalyst E Vertical Axle Plate

Kiz Mobility
2

N~

< SOSTOTOTS\

ltem Number  Part Number  Description

Quantity

1-6 506127 Vertical Axle Plate Assembly, Black, 0° Camber

This kit is only for one side

1

Vertical Axle Plate, Black, with Receiver
1, 7a-9 506132 Assembly 1/2"

This kit is only for one side. Used with Quad Quick Release
Axles.

Vertical Axle Plate, Black, with Receiver
1, 7b-9 117102 Assembly 2.5"

This kit is only for one side. Used with Quick Release and
Fixed Axles.

7a-9 114172 Axle Receiver Assembly, Catalyst 5Vx

This kit is only for one side. Used with Quad Quick Release
Axles.

7b-9 117101 Axle Receiver Assembly, Catalyst 5Vx & E

This kit is only for one side. Used with Quick Release and
Fixed Axles.

1 003519INST VX Axle Plate Black with Instruction

08-06-2025



[tem Number  Part Number  Description Quantity
2 103370 M6 x 35 Low SHCS BLK ZC w/Patch 2
3 003520 Threaded Axle Nut Plate 1
4 101123 M6 x 45 Low SHCS BLK ZC 2
5 100746 M6 Flat Washer Blk Zn 2
6 100658 M6 Nylock Nut Blk Zn 2
7a 100756 Axle Receiver 1/2" Diameter 1
Used with Quad Quick Release Axles
7b 114480 Axle Receiver, 2.5" Length 1
Used with Quick Release and Fixed Axles
8 100514 Axle Receiver Nut M18 x D12 x 8mm 2
9 100583 Axle Plate Washer 18mm 1

08-06-2025




